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21|12 712|2 11267 813
+(712|0 + 30 -18121 +(1(1|0
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41112 6|74 1(2|0 4123
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1/4/5|5 623 4113 11934
-12131]2 +(2(21 +|5(1(2 -15121
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12_;1;?; FSrS‘SS]ner;gd‘si;::n l:);rer_soutr:])(:rarfirtrl,:?gen - dreistellig, bis 20
Zusammenzahlen oder Abziehen von natiirlichen Zahlen

211|2 712]|2 112(6|7 8/1|3 7121
+|7(121|0 + 3|0 -1812|1 +/1/1|0 +12|2|2
+/7/3|0 +11(3|6 -1113(2 + 4 +(7(2|1
116/6|2 8|88 3|14 9127 11664
4112 6|74 1/2|0 41213 7\17|5
+(714|5 - 211 +(1(3|2 +14(2|0 -1112(2
+(8(2|1 -13(4/|2 +(1(0|1 +/7(1|0 -1214|3
119/7|8 3111 3|53 1/5/5]3 41110
1/4|5|5 6123 4113 11934 2131
-1213|2 +(2(2|1 +(5(1|2 -15121 +(8|5|2
-13/01]3 +13|24 +19|5|1 -151113 +/1/0|3
9120 111/6|8 1/8|7|6 9/0/0 1/1/8|6
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